FMEXFHRERER XemilE —K [BF]

K4 TR26FEE BARFAFAREGREFIERR

2B TRE2645E108248 (€£) ~ 10A258 (1)

=15 WAREAREE

<FFREFERE>

142 BikA | 348050 74 KK | 308.050
2431 IEX 339.050 84 EEHEKR 299.050
34 BX | 325.850 ofir BIAK | 292.050
afi Ea X 317.650 1043z BX 278.050
54 E+#EKk | 317.400 141 BX | 274250
643 HiEX 312.500 12431 BX 146.400

(g K- F—LHIZETF]

K4 28 (2E b | HAE | DY | BE | FTHE | #E BEF  |BEAE
TR A GM 2 | 12700 | 11.900 | 13.050 | 12.750 | 13.400 | 13.400 | 77.200 | 34
ErK 2 | BRE 1 12450 | 12200 | 12.800 | 13.650 | 13.800 | 13.200 | 78.100 | 25
£F Bth | EEA | 1 14500 | 12.250 | 11.400 | 14550 | 12.950 | 13.050 | 78.700 | 23
A WE | HSE | 1 13.200 | 13.200 | 11.900 | 13.250 | 13.600 | 12.900 | 78.050 | 26
E#E 1EE | B2 1 11.000 | 13400 | 13.050 | 13.200 | 13.750 | 12.950 | 77.350 | 32
EM A% | ERXX | 1 12.350 | 11900 | 13.350 | 13.350 | 13.250 | 12.650 | 76.850 | 36

F—LER 52.850 | 51.050 | 51.800  54.800 | 54.550 | 52.600 | 317.650

(BaX-EAHIZEF)

K4 28 RE ph | HAE | DYUER | BE | FiTHE | #E BEt  |EAE
28 BN i 3 9.500 | 11.000 | 11.500 = 13.000 | 12.600 | 11.550 | 69.150 | 55
BK B GM 2 | 12100 | 11.300 | 11.600 | 12.050 | 11.650 | 10.100 | 68.800 | 56
<t#EBHHKAEE>

Eq= IE £z K4 TR
p H 6L *F #Hith 14.500
Bk 5 3L £F #Hth 14.550




FMEXFHRETRRR XemilE —K [ZF]

R&4 TR26FEE BARFAFAREGREFIERR
A TRE26%E10H 248 (£) ~ 10258 (1)
=i5 MAEAREEE
<EZFEEKRZEFHERLE>
142 BikKX | 162.900
2431 H&AKX | 159.850
3fi B&{AK | 143350
441 HEX 133.700
54 BIK | 133.400
643 BX 119.750
By K- F—LHIZETF]
K4 FHEO|PE BE | BEVL | EHE | dh =5 -1
kO %A & 1 12.200 9.450 | 12.750 9.900 | 44300 | 25
pRlR HR I 13 1 12.850 7.650 | 10.050 | 10.200 | 40.750 | 30
B My | &F 1 12.700 | 10.850 | 12.950 | 11.850 | 48.350 14
F—LBE 37.750 | 27.950 | 35750 | 31.950 | 133.400
(BaX-EAHISEF)
K4 FHEO|2E BE | BEVL | FHE | dh BEt | FREL
<#EHMNMAEEZE>
#H B £z K4 BR
s 7L B a8 12.950
TiHE 8L kO %A 12.750




MEXFHREFZIR XemiE —K [BF %F]

REH TR265FE BRFAREGERAARE
#AH ER265F10H238 (&) ~ 10824H (%)
=15 mMARBAEEE

<BFpHE>

(B K H15:EF]

K4 2R O RE dh | BDAE | DY | BE | B | % BEt |BAER
EaRK X TWSEE | 3 | 13950 | 12550 | 13500 | 13.300 | 13.550 | 13.900 | 80.750 | 7
IANKE # i 3 13.150 14.450 | 13.650
EP% & 4] 3 | 14.450 13.100 | 14.450
a5k FEE | KA | 2 | 13100 | 13.050 | 12.850 | 15.100 | 13.700 | 13.400 | 81.200| 5
?ﬁir AKX B 2 13.150 | 14.050 | 13.200 | 14.000 | 12.850 | 12.700 | 79.950 | 10
<HEBHAEE>

2B JIE 5z K4 Ha

ph v:¥iva 8 E 14.450

HALE 361 8 X 14.050

HAE 741 I\KEB # 13.150

D) afi1 fERKR HX 13.500

D) 8L ?Fr%’ MK 13.200

593 4 ik HEE 15.100

B 3L EP% 3 14.450

7923 8 8 X 14.000

TITH 2% /\7|<‘ % 14.450

178 7451 ik HEE 13.700

TiTHE 8L 1&/:'* HEX 13.550

i pXiva fERKR HX 13.900

SN v:Eiva /\*;’n’ % 13.650

ki 8431 ik HEE 13.400
<ZFRHE>
(B9 K H 5:E& F]

K4 2RO 2HE BE | BuEL | EHE | dh =L sz
AH #ME & 4 11.850 7.050 | 10.800 | 11.100 | 40.800 35
hig 7% EX 3 | 10.500 6.900 8.700 8.550 | 34.650 41
HPREY | DE | 2 0.000 0.000 | 10.550 0.000 | 10.550
TR SHE | #5%F | 2 | 12450 11.600 | 12.800 | 12.000 | 48.850 6
<#EHMAEEZ>

2H I 5z K4 =R

T E 3L fais =g 12.800

P hH 74L i =18 12.000




